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2|: Boltzmann Machine
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Boltzmann Machine (BM) wvisible Umnitu) :

!

=
ki

0
W[r

10d

o 27ts

(=]
=

A
~

Hidden Unit(h) :

B2

Weights between Hidden Units (t;;) and bias (c;)

Weights between Visible Units (rij) and bias (b;)
Weights between Visible and Hidden Unit (w;;)

St Cost Function
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Cost Function: Energy

@ bias of visible

@ visible-hidden interaction

E(v,h) = —( Z(rl]v v+ wivihy + tihihy ) + zbvl+2c]h )

l ] () visible interaction

@ bias of hidden

E(wh)=—@W'Rv+h"Wv+h'Th+b"v+ c'h)

Restricted Boltmann Machine< N
visible layer & hidden layer node AlO|2] HAZ LNHSHX|] Y2 => 4 AtHdE ZEHRE = = US

rij=0, tij =0
E(tw,h) =—-h"Wv —bTv—cTh

RIGHEl 2 =0t AI9] LA K| &t
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I =25 7Pgol0] =les 25 43Tl

-1

exp(—E (v, h))
YA
p; X g €i/kT : Boltzman distribution

pW,b,C (U, h) —
where Z = ), , exp(—E (v, h))

A= ISt pisible unit, v O] ZISHEIE 2

1 1
Pwpc(V) = Zh:EB_E(v ) = Z,e_F(v)

where Z' = Y, exp(—F(v)) and F(v) = —log Y.;,exp(—E (v, h))
O|f F(v)= HEEX= Free Energy, F(v) = —kglogZ O||A 2tC}.



Cost Function: Energy to Free Energy

F(v) = —log 2 exp(—E(v, h))
n
= —log Z e—(—bTv —cTh =hTw v)
n

T T T
— —lnge(b v+c' h+h" W v)
h

. T T T
=—-b'v —log Z elc W) O| i, h € {0, 1} HENTHS JHE I,
- O|Z ‘Bernoulli RBM’ 2}10 SHCHO|ZIER,).

if h € {0,1}; Bernoulli RBM

n n
F(v) =—-b"v — Z log(e® + ecitWi?) = —pTv — z log(1 + ecitWiv)
i=1 i=1



21 &= vOoll Ciet &5 hel 2=
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3; p(h|v) 0| CHaH

HI

1 Ty nT
pr) _ _pvr) _ ge0CEOD) T o oy,
p(v) 2ppr(hv) Yh 7 €xp(—E(h, v))

p(hlv) = = 5, ecThhTW v



O|XI EEEHX|0M= h € {0,1} 0|22

> Z 0%l voi| CHAHA] it1™H hidden node?t 12 MZ2| =l st5

i exp(ci + Wiv) _ exp(ci + Wiv)
2nexp(cih; + hWiv) X exp(h;) + exp(c; + W;v)

p(h; =1]|v)

_ exp(ci + Wiv)
B 1+ EXp(Ci + Wiv)

= o(c¢; + W;v)

o(+): Sigmoid function

same as,  p(v; =1|h) = a(b; + W;'v)

SHlE s, O ERF ZHX|0l|M= Sigmoid 2f+= E= 4 ULk



orS I s with Gradient Descent

(50~ (|50 HD P IR)
‘\/ Input (visiblel)  Output (wisible [ + 1)

J

RISHE| 220 B2 A p(v, h) o A CIO[E|Q| &8 X p, I} HISHRIEE sh&2 T

p &p,2ES H T I, YHHHOZ FEH-B10| 28] 2| Dk, (P,|P)Lt Log Likelihood S& ATt

P
D (PIR,) = SP(Dlog (ll.)

-> P& P Uil ARERE M, IEZL[Q] XtO]



oh= 1Y - with Gradient Descent

RBMO| TtetO|E b, ¢, WOl CHSHO] likelihood 2| & (= min(—logL) )O| X[CH7t £ =& H5!
O|o}, Lt2t0|E b, c, WE 02 H7|2L

9 0 _exp(-F(v)) 0 :
—ognp(W) = ——pIn———==" = —— (=F(v) ~ In(Z"))

0
%F(U) + —ln(z exp(—F (7))

= 2 F) - Ze"p( AR

= L F) - zp(m%lf(v)

From Expected value(?|CHZ)) E(x) = YxP(x)

oF ()
56

0
%F(U) _ Ep{
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= 1A - with Gradient Descent

0 0
S5 np(W) = 55 F(v) —

aF E
= F(v) — By

Zp(v) F(9)

(V)}

Contrastive Divergence(CD)

h)7t =3E 7| L5th= 230 OF:l

p(v,

QU F|AOLHIES S

125t = p(v, h)E ZARHA ALE

Gibbs SamplingS k 12t £3MoH A gradient 342 Y=L}

ofi'e af= ‘etol ¥V RloiM =
h, ve| ZE0|| Choll 2i= 25 AlLotoF &

Gibbs Sampling& O|2af] AH|Ltet 4~ QIX|at
O JAIRFS TQ 2 &t

OF (¥
_ F(v) — _szN a(gv)

L ORE ZvENF(”) ]

~ loss = F(v) — Fw'™)



ot I - with Gradient Descent

Hinton W 4~El0| CD(Contrastive Divergence)E H|QtotRi 1,
O|Z, ¥2|&9| Z1tJt Local OptimumlZ £HJICH O|2HO 2 SHE

Gibbs Sampling & CD

Step 1. Sample h! ~P(h|v!)
’ k(=1) #H S A
Step 2.Sample v'*1 ~P(v|h!)

Geoffrey Everest Hinton
O|ZX|<(AI) EOFE JW&AL Q& ARTIH, Clajul SIEl ClojojJa 52 iy
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odes- Prepare Dataset :: MNIST

|— t10k-images-idx3-ubyte

|— t10k-images-idx3-ubyte.gz

— t10k-labels-idx1-ubyte _ .

|— t10k-labels-idx1-ubyte.gz mnist_load.pyE S0l L2 2=

— train-images-idx3-ubyte
|— train-images-idx3-ubyte.gz
— train-labels-idx1-ubyte
L— train-labels-idx1-ubyte.gz
— mnist_load.py
L— rbm_fit.py

2 directories, 10 files




RBM Codes- Prepare Dataset :: MNIST

(e N X | RBM — Vim mnist_load.py » Python — 125x30

1: mnist_load.py

19

18 import torch

17 from torchvision.datasets import MNIST

16 import torchvision.transforms transforms
15

14

13 mnist_transform = transforms.Compose([transforms.ToTensoxr(), transforms.Normalize((0.5,), (1.0,))]1)
12

11 download_root="./"
10

train_dataset=MNIST (download_root, transform=mnist_transfornj, train=True, jlownload=True)
valid_dataset=MNIST(download_root, transform=mnist_transforn), train=False,jdownload=True)
test_dataset=MNIST (download_root, transform=mnist_transform,j train=False, flownload=True)

batch_size = 64

train_loader = Dataloader(dataset=train_dataset, batch_size=batch_size, shuffle=True)

valid_loader = Dataloader(dataset=test_dataset, batch_size=batch_size, shuffle=True)
20 test_loader = Dataloader(dataset=test_dataset, batch_size=batch_size, shuffle=TrueI

9
8
i
6
5 Dataloader=torch.utils.data.Dataloader
4
3
2
i




RBM Codes- model class and main codes

: xhm Fit.py

import numpy np

import toxch

import torchvision

import matplotlib.pyplot plt

save_img(file_name,
f="./pic/%s.png"%file_name
img=np.transpose(img.numpy(), (1, 2, 0))
plt.imsave(£, img)

1
2
3
4
3
6
7
8
9




RBM Codes- model class

48

47 RBM(toxrch.nn.Module) :

46 __init__(self, n_vis=784, n_hid=500, k=5):
45 super (RBM, self).__init__()

aa class RBM3

43 self.W=torch.nn.Parameter(torch.randn(n_hid, n_vis)*le-2)

Zi self.v_bias=torch.nn.Parameter(torch.zeros(n_vis)) I nStance var iables (% E‘H ﬁ ?—I ﬁ E_.I ﬁ E _¢_) {

40 self.h_bias=torch.nn.Parameter(torch.zeros(n_hid))

5 - w : weight( visible node # x hidden node # )

38 self.k=k

e 5 w[i][j]=visible[i]2} hidden[j] AO[2Q| Z7I=X[& 2|0

34 _p=p-torch.autograd.Variable(torch.rand(p.size())) = V — b iaS : b i a S O :E V i S i b 1 e

33

32  p_sign=torch.sign(_p) - h_bias: bias of Hidden

31

32 . torch.nn.functional.relu(p_sign) - k . Con-tras-tive Divergence g\l_f_

28 v_to_h(self, v):
27 ¢

26 p_h=torch.sigmoid (torch.nn.functional.linear(v, self.W, self.h_bias))
25 sample_h=self.sampling(p_h) MethOds (E‘ EH A ﬂ'" A-I : ) {

24 p_h, sample_h

22 : h_to_v(self, h): Sampling(p)

21
20 p_v=torch.sigmoid (torch.nn.functional.linear(h, self.W.t(), .v_hi V_t O_ h ( V )
19 sample_v=self.sampling(p_v)
18 p_v, sample_v h to V ( h )
17 -- - -
16 forward(self, v):
15 p_hO, he=self.v_to_h(v) :EO Iward ( V )
14 _h=ho
freeEnergy(v)

413 range(self.k):

1.2 _p_v, _v=self.h_to_v(_h)
qlal _p_h, _h=self.v_to_h(_v) }'} °
10 ’

v, _V

O

freeEnergy(self, v):

vbias=v.mv(self.v_bias)
wx_b=torch.nn.functional.linear(v, self.W, self.h_bias)
sum_i=torch.log(l+torch.exp(wx_b))
ssum=torch.sum(sum_1i, dim=1)

P NWSA OO N ®

60 (-ssum-vbias) .mean (I

bm_fit.py




RBM class : Methods

n
Fv) = -bTv — z log(1 + eCitWiv)
i=1

freeEnergy (self

vbias=v.mv(self.v_bias)

wx_b=torch.nn.functional.linear(v, self.W, self.h_bias)
sum_i=torch.log(1+torch.exp(wx_b)) sum_i.size()=(Batch_size
ssum=torch.sum(sum_1i, dim=1)

(-ssum-vbias) .mean()

loss = F(v) — F(v®)

v, vl=rbm(_sample_data)

_loss=rbm.freeEnexgy(v)-rbm.freeEnergy(vl)



RBM class : Methods

Step 1. Sample h! ~P(h|v!) 5
k(

Step 2.Sample v'*1 ~P(v|h!)

forward(self. v):

p_hO, hO=selfjv_to_h(v)| «—— Step1

_h=ho
range(self.k):

Contrastive Divergence k H




RBM class : Methods

v_to_h(self, v):

orch.sigmoid(torch.nn.functional.linear(v, self.W, self.h_bias)) p(hl =1 | U) — O'(Ci + Wiv)
sample_h=self.sampling(p_h)
p_h, sample_h

h_to_v(self, h):
p(vj =1 | h) = o(bj + Wij)
:orch.sigmoid(torch.nn.functional.linear(h, self.W.t(), self.v_bias))
sample_v=self.sampling(p_v)
p_v, sample_v

sampling(self, p):

_p=p-jtorch.autograd.Variable(torch.rand(p.size()))

p_sign=torch.sign(_p)

torch.nn.functionall. relu(p_sign)




RBM Codes- main codes

__name__=="__main__
rbm=RBM (k=1)

optimizer=torch.optim.Adam(xbm.parameters(), le-3)

batch_size=64
train_loader = torch.utils.data.Dataloader(
torchvision.datasets.MNIST('./', train=True, download=True, transform=torchvision.transforms.Compose([torchvision.transforms.ToTensoxr()])), batch_size=batch_size)

test=torchvision.datasets.MNIST('./', train=False, transform=torchvision.transforms.Compose([torchvision.transforms.ToTensoxr()]))

sample_data=test.data[:32, :].view(-1, 784)
sample_data=sample_data.type(torch.FloatTensor) /255.

v, vl=rbm(sample_data)
save_img("label", torchvision.utils.make_grid(v.view(32, 1, 28, 28).data))
save_img("before_train", torchvision.utils.make_grid(vl.view(32, 1, 28, 28).data))

epoch range (100) :
loss=[]
_, (data, label) enumerate (train_loader):
data=torch.autograd.Variable(data.view(-1, 784))

_sample_data=data.bernoulli() ° ° g
_ Trainin

v, vl=rbm(_sample_data)
_loss=rbm.freeEnergy(v)-rbm.freeEnergy (vi)
loss.append(_loss.data.item())
optimizer.zero_grad()
_loss.backward()
optimizer.step()
print("EPOCH: %d\x" %(epoch+1), flush=True, end="")
save_img("epoch%d" %(epoch+1), torchvision.utils.make_grid(vi.view(32, 1, 28, 28).data))

P
e .
v, vl=rbm(sample_data) } T 't g
save_img("after_train", torchvision.utils.make_grid(vl.view(32, 1, 28, 28).data)) e S 1 n

plt.plot(loss, "co"
plt.show()

rbm_fit.py[+] ETCCEneTEyICIpYENon, utf-8lunix] (TN




main :: training

epoch range (100) : Epoch: 100
loss=[]
_, (data, label) enumerate(train_loader):
data=torch.autograd.Variable(data.view(-1, 784))
1 Bamplhe _data(batch_size x 784) (0 or 1): data[i]lel =HE=E 1, (1-data[i])% ¥
_sample_data=data.bernoulli()

v, vl=rbm(_sample_data)
_loss=rbm.freeEnexgy(v)-rbm.freeEnexrgy(vl) lOSS::JF(U)__F(UUQ)
loss.append(_loss.data.item())
optimizer.zero_grad()
_loss.backward() MR::(U¥]H$DJOg(L(U))
optimizer.step()
print ("EPOCH: %d\r" %(epoch+1), flush=True, end="")
save_img("epoch%d" %(epoch+1l), torchvision.utils.make_grid(vl.view(32,



RBM Codes- Result: training epoch(Last batch 32)

RS SR RN
WY RN
N L (J
L)WM

1 TN
R R
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N N e,

Epoch 20 Epoch 30 Epoch 40

Epoch 10

Epoch 1

RN YA G
“h N\ NG
ennm B by
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NN %
oy ey Ny N

Epoch 60 Epoch 70 Epoch 90 Epoch 100

Epoch 50

10 epoch O]

A



Result: Test Dataset 32

RBM Codes-
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Implicit sampling & Explicit sampling

Model: "sequential"

Energy Based Model(EBMs):

RBMs;1980 GANs;2014
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Implicit Generation and Generalization in Energy-Based Model(2019)

olo} 2 ERER MZL
Qi7LE| T AFRE|T QLt,

= H= 17121 25t

GAN MNIST generated img
without CNN(not DCGAN)

Epoch 100 Epoch 50 Epoch 10 Epoch 4 Epoch 2 Epoch1l

VAEs(Variational Autoencoders); 203 rew weakyreiy

Layer (type) Output Shape Param #

dense (Dense) (None, 100) 2000
(None, 100) 0

dense_1 (Dense) (None, 784) 79184

‘I'(_);;l params: 81,184

Trainable params: 81,184

Non-trainable params: @

Model: "sequential_ 1"

Layer (type) Output Shape Param #

dense_2 (Dense) (None, 100) 78500

leaky_re_lu_1 (LeakyRelLU) (None, 100) 0

dropout (Dropout) (None, 100) 0

dense_3 (Dense) (None, 1) 101

Total params: 78,601
Trainable params: 78,601
Non-trainable params: @

1.‘.
&

SRR




S
Fer LT}

|

N1



